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And it stuck to the face of the brick he is 2% — 29977 19192 TN

OVERVIEW
X701 27 taught that if someone threw an object and it stuck to the side of a
brick, he is 2>’11. We know that generally to be 217 there has to be a i"v fmin
7 opn. Mmoo will be discussing how there 1s a "7 03p» in this case of the
brick.
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The n''9 says that if it rested on the face of the brick higher than three
o'now from the ground' it is necessary for the face of the brick to have an
area of four 2’15V by four o°nov, and only then is he 21 -

— 9PIND NIN IR 29 ¥ X 21959 N1 WA N3%25N 2393 HAYTIY 1)
because the fact that it is stuck to the face of the brick, that is considered
as if it is resting on the (face of the) brick, and therefore he is 2°°1, because
there was a "7 %v "7 0P 2"y 117, even though in reality it is not resting on

the brick, but it is suspended in the air, nevertheless we consider it as if it is
resting on (the face of) the brick which is a'7 %9 ' mpn.3

mooin offers a corollary:
— NNY D272 1IN 229 NY P YINA PN 7919 NVNY PNT RN 1

And similarly that which we learnt® in a mawn, that if someone threw an
object at a wall, and it came to rest on the wall lower than ten 2°15v from
the ground, it is considered as if he threw it on the ground, and he is 21
and 7171° 529 explained that the mwn is referring to a case where someone
threw a fat fig, which stuck to the side of the wall,
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We must use the same explanation that since it is stuck to the face of the
wall which (presumably) has an area of '7 %¥ '7 it is considered as if the
fig is actually resting on the wall.

UIf it is lower than three onou there is no need for a '7 0pn, since below three it is considered to be resting
on the ground proper.

* See “Thinking it over’ # 1.

? See X"ow.

4 x,p 1P (and 2,).
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MooIN mentions a dissenting opinion:
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However, the X'"2%9 maintains that even if the object stuck to the face of
the brick/wall above three 2°1ov from the ground it is not necessary that

the face of the brick or wall should have an area of ' ®¥ '7 in order for it to
be considered a proper 1117 and be 21
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Because, since the object that is stuck to the face of the wall is suspended

above the ground it is considered as if it is resting upon the ground, and
therefore it is a proper '7 ¥ "7 2¥pn 3"y amn and he is 2.

mMoo1n asks on the X"2:
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The >''1 has a difficulty with the view of the X"2™; for we find previously —
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when the X723 asked on our mwn, which states that if he stretched out his
hand into another domain and placed it in the hand of the receiver (or took it
from the hand and brought it back to his domain) he is 217, on which the

XM asks why is he 21, we require an 't 29p» A"vR aRIM 9PV, but
according to the X"2", this question may be answered, by -
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Establishing our /722 in a case where the object is being held in such a

manner that it is suspended above the ground, which according to the X"27 is
considered as if it is resting on the ground; so there is a "7 opn. Therefore what is the
question of the X132 mooIn does not answer this question on the x"21.°

SUMMARY

An object which is thrown 23"7772 X"7 and sticks to the side of a wall; if it is
"1 12912, he is always My, if it is 'an 7vn? he is always 2»m; between ") and
", according to the n"1 if the area of the wall is '7 %¥ '7 he is 21, otherwise
he is Mwa. According to the X"29, he is always 21 regardless of the area

> See ‘Thinking it over’ # 2.

% See w"x17 'oM K"2w", who answer this question on the X"2», that only by a »m> or 722%, which are
attached to the ground, is there no requirement for 7"v7, but not by the hand of a person (¥"&7). Or
alternately that the person who is receiving the item must grasp the object that it should not fall, which
makes it a case of MWW "2 (see 0"nn who explains the X"awA). See (also) 7277 MR and 7-1 NIX 2XR DRI,
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size.

THINKING IT OVER
1. According to the n"7 that we consider it, as if it is actually resting on the
wall/brick on a '7 0pn;’ since it is w759, why is it not considered as if it
is resting on a N*9n75?°

2. According to the X"27 since we consider that Y727 %10 17X 1s as if it 1s
ypap 3"y nnn,” then why are you not 21 even if it landed "n Tyn>?

3. Does """ agree with the n"9 or the X"27?'°

7 See footnote # 2.

¥ See n 5w naw

? See footnote # 5.

10 See X"wArm and oK "1,
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